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This test consists of 100 questions (Q.Nos. 1 -40 Mathematics, 41 - 80 Physical

Science, 81-100 Biological Science).

Each question carries one mark.

Blank page is provided for rough work at the end of the question paper.
Shade the correct answer in the OMR sheet corresponding question number.

The OMR Answer Sheet consists of two copies, the ORIGINAL COPY and the
CANDIDATES COPY. Do not separate or displace them. Do not darken the bubbles
in two copies of OMR Answer Sheets separately. After the examination, you should
hand over the original copy of OMR Answer Sheet to the invigilator of the room and
can take away the Candidate's copy of OMR Answer Sheet with them.

The candidate need not return the Question Paper Booklet and can take it after
completion of the examination. No candidate should leave the examination hall

before the end of the examination.

Now turn to the next page and start answering the questions.
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MATHEMATICS

1. What is the value of log};, + logis, ?

log s, + logies, G08) Densd dod ?

A) 1950 B) 0 O 1 D) 89
2. Match the following.

i)  GCD of 510 and 92 p 1

ii) log! =..... (@>0and a=1) qQ 2

iii) a>0and a.fc = Jac thena=................. r 0

Bol Y wBHBHok.

i) 510 %6050 92 © K.3®.5° p) 1

i) log! =... (@>0and a=1) qQ 2

iii) a> 08 afc = Jac @ond a=.......... r 0

A) i-rii-p,iii-q B) i-q ii-riii-p

C) i-pii-r,iii-q D) i-q,ii-p,iii-r

3. Ifx=log; and y = log; then express logs’ in terms of x, y.
x = log; 0605 y = log; @ond logy & X, y o&° Beyod.
A) logy =x+y B) logy’ =2x+y
C) logy =x+2y D) logy’ =2+x+y
4. Which of the following statements are true.
i) If A={p, q r}then the number of subsets of A is 10
ii) Ifn (A) =6, n(B) = 4 then the maximum number of elements in A N B is 4
iii) Empty set is subset of every set.
A) All statements are true B) Only iiis true
C) Only iiiis true D) Both ii and iii are true
Bod S O aesegen &0 ?
i) A={p q rjoomd A Ko &ddHe Jogg 10
ii) Ifn(A)=6,n(B)=4owwd ANB& Ko 508 Sorosee Dogyd.
ii) g S (BB $SW8E BN
A) o) Tessgen 69%33 B) ii S $&g0
Q) i Sr(Ba S50 D) ii $060h» iii Bor $e¥E
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5. If A - B = ¢ then the relation between A and B is

A) A#B B) BcA C) AcB D) B=¢butA=+¢

A-B=¢poond A8 B o 305, Sowogio

A) A#B B) BcA C) AcB D) B=o=d Ax¢
6. Assertion(A) : A={3,57},B={2 3 5 then AnB={3,5}

Reason (R) : AnB={x/xe Aand x € B}

Choose correct statement :

A) Assertion and Reason both are True. Reason is supporting Assertion.
B) Assertion and Reason both are True. Reason is not supporting the Assertion.
C) Assertion is True but the Reason is False.

D) Assertion is False, but the Reason is True.

(B85S (A) : A={3,5"7},B={2 3,5} won5 AnB={35}

%0 (R) . AnB={x/xe A6 x € B}

A) (DB, P80 Bolr 695533 J0BD B0 (BB ézﬁag@o&.

B) (8, seteso Botr 69‘.6533 58 =80 [HELSK 6263905&53.

C) @8 S50 =8 =80 &0

D) @868 od850 58 =80 $&g0

7. The zeroes of the polynomial h(x) = (x - 5) (x> - x- 6) are a, 3, ¥ then which of the
following is false ?

h(x) = (x - 5) (X? - X- 6) &K DF0HH Ereaegen o, P, Y wond & (Bod TISE* D& wBE0e?
A) o=-2 B) p=3 C) y=-5 D) y=5
8. Match the following

p) The curve y = x> - 5x + 6 passes through a) xX>+2x+4
Q) (¢-8)+(x-2)= b) y=x

r) The graph which is passing through (0, 0) c) (3,0

238 5B X0,

p) y=x-5x+ 6ok Eo FHDoD a) xX*+2x+4
Q) (¢-8)+(x-2)= b) y=x

r) (0, 0) Doty owe 8 SEo ¢ (3,0

A) p-c,q-br-a B) p-a,q-br-c

C) p-bq-ar-c D) p-c,q-a,r-b

leo



9.

10.

11.

12.

x2+ bx + ¢ has factors x -1 and x +2thenb+c=...............

X2+ bx + ¢ 95 250568 X -1 585 X + 2 en Se8eroseen Wand b+ C = e

A) 3 B) -3 O 1 D) -1
Assertion (A) : If6x-2y-3=0and kx-y-2=0 has unique solution, then k =3
Reason (R) : Ifax+by+c =0andax+by+c,=0 aredependentequations
al bl
—_—F
then a, b,

A) Both Assertion and Reason are True and Reason is supporting Assertion

B) Both Assertion and Reason are True but Reason is not supporting Assertion
C) Assertion is True but Reason is False

D) Assertion is False but Reason is True

B80S (A) @ 6x-2y-3=05000 kx-y-2=0 o JBE S &od k£ 3
60 (R) @ ax+by+c =050 ax+by+c,=0e880 S80mE Hansdesren

A) (©8R 0k sP8e0 Torr D&M DO S0 (@B éaﬁ)g@o&).
B) (8% 0cin 5280 Borr $&5n 58 (B, 2800 6&3905653.
C) @8 S50 =8 =80 &0

D) @868 od850 58 =80 $&g0

Which of the following equations has the solution of (2, -3) ?

Bod BEnEGeres® BI8 (2, -3) a8 FBS ©HB0d ?

A) 2x-3y=10 B) 2x+3y=13

C) 2x-3y=13 D) 2x+ 3y =-1

x =71is aline

A) Parallel to X - axis B) Parallel to Y - axis

C) Passes through the origin D) Passes through (0, 7)

X =7 0 $583

A) X - ozd8 $irodto B) Y -ozdé Sdroddo

Q) Soredothsy Howe 88808 D) (0, 7) 8oty ot 88808

I~



13.  Whcih of the following statement is true ?
A) If x2-6x + k=0 has real and distinct roots then k <9

1

B) The sum of the roots of the equation 6x*>-1=0is 5

C) The generla form of a quadratic equation is x> + bx - ¢

D) Numbero of solutions of a quadratic equation is 4

Bod S° & aBgo s ?

A) x*-6x + k=0 @58 085 $H005n ebSrs Sirerod $OA ¢od k<9

1
B) 6x2-1=0 e $88n0 GnE) Hrere Zndo 5

C) x*+ bx - c o S8 BaBBeso @) FBes L0
D) :5&3 $808Be0ds Fse Qogy 4
14. If o, B are two roots of x>+ ax + 12 =0, such that o= =1then o =.............
o, Peox’tax+12=0% o — =1 odgNFore Bok HIered GONB O = ...
A) 7 B) -7 Q) +1 D) +7
15. Match the following

1
p) Product of the roots of 4x*> -1 =0 s) 2
1
q) Sum of the roots of 4> -x+1 =0 t) 1
r) Ifroots of 2x> +kx +2 =0 areequal thenk=....... u) 4
2385 HBH0.
1
p) 4x*-1=0 Swrere ©P0 S) 1
1
qQ) 4E-x+1 =0 Swrere Jngo t) 1
1) 2x2+kx +2 =0 S8 Srered $Erads k= ....... u) +4
A) p-s,q-tr-u B) p-uq-tr-s
C) p-tq-sr-u D) p-tq-sr-u
16. Assertion (A) : (x +2)>=x*-41is a quadratic equation
Reason (R) : Anequation whose degree is 2 is called a quadratic equation.

A) Both Assertion and Reason are True and Reason supports the Assertion
B) Both Assertion and Reason are True but Reason not support Assertion
C) Assertion is True but the Reason is False

D) Assertion is False but the Reason is True

(3,



17.

18.

19.

20.

BgeS (A) @ (x+2)=x-4 &8 I $&088ee0

8o (R) @ a8 $8088wo @wé& H05e0 2 wond A Eété S 08B0 oerEn.
A) (8D Bk 5280 Borr D&, B 5280 (DB ézﬁag@o&)

B) (8% 0cin 5780 Botr $&5K0 520 =880, (©HELS ézﬁagoiﬁtﬁa

C) @8 S50 =8 =80 &0

D) @868 edg50 58 =80 $&g0

Ifa,=2,a =a_

, -1, thena, is

a,=2a =a_ -1, o8 a, =
A) 0 B) 1 O -1 D) -2
1+24+3+......... +n
T43+5+ . +(2n-1) —
n n+1 n-1 2
A) 5 B O = D) &

If the end points of a diameter A (4, 3) and B (x, 5) lie on the circle with centre
O (2, 4) then the value of x

500 R0 HothHen A (4, 3), B (x, 5) e o Hgo cﬁwé&éo@ﬁo O(2,4) @o0nd x Jensd

A) x=2 B) x=0

C) x=-2 D) x=-3

Statement (I) : The segment joining the points A(4, 6) and B(-7, -1) is di-
vided by X-axis in the ratio of 5 :3

Statement (II) :  If the points of A (2, 3), B(4, k) and C (6, -3) are collinear, the
valuek =6

A) Both Statements I and IT are True B) StatementIis True, but Il is False
C) StatementIis False, but Il is True D) Both statement I and II are False

@350 (D : A4, 6) 8 B(-7, -1) @ HorbHes Sevs) Tgrgpolo &
X- @80 5 : 3 38’ D580

©$SSseo AD @ A(2,3), B@ k) $080 C (6, -3) Doden $BDNren wond
k=6

A) (HXS50 185080 [ Botr ée‘égﬁwé

B) ©%u50 13850, =0 (5580 11 &30
C) 3580 [edsso, =0 (H$S80 11 $&g0
D) 085¢80 18508050 IBokr @m%zﬁwé

o



4
Sec*0 + tan*0 = 3 then the value of tan0 . secO

4
Sec*0 + tan*0 = 3 ©o0d tanod . secd Jend

A) i% B) i% @) i% D) i%

O is centre of circle, ABCD is a square inscribed in the circle. Find the ratio of the
perimeter of ABCD and perimeter of the semicircle ABC

O Boorre He é@éoé‘s ABCD o3 &8 $&38@0 @o8d9odelod. S&SE HEE0E
So0ckn ABC 085)¥ 5060 58

A) 27 (7 +42) B) 442 : (7+42)

C) n:2y2 +2) D) 4.2 :(x +2)

Whcih one of the following statements is/are correct

xX+y

i) If3*=2=6then 1

xy
ii) If x= log; then = +1 = log,’
2 x+1 6

h2
iif) h is the altitude of equilateral triangle then its area is Nel

iv) sin 60° < cos 60°

& (Bob KB e SOTID A ?

. e X+y_
) F=2=beas =1

.. 1
i) x= log; ®ond T 1 +1 = log’

h2
iii) h &30 &8 JersT™ (@Bghe: &HB YoNT® I T 7
iv) sin 60° < cos 60°
A) i, ii, iii, iv B) i, iii

Q) i, ii, iii D) ii, iii

I~



24.

25.

26.

If a die is rolled, which of the following events has the least probability.

A) Getting an odd number B) Getting a prime number

C) Getting a composite number D) Getting an even number

a8 B 5"@03 BBrr0s® 8od Poeses® EENS Jogrsgd Ko 50ead hBoHod?
A) é?oéospg Seo B) (@orddogg Sy

©) éooﬁwiéoéos% :Siﬁaae) D) 66603% zéiﬁaaéa

Match the statements of column A with those of column B.

Column - A Column - B
1. The Difference of maximum and minimum values p) Mean
of data
2. To know popular brand of an article q) Median
3. When extremes are not important r) Mode
4. When all the observation are important s) Range
B3 B HBOXW.
Column - A Column - B
1) Szvodos® 508, BIL Dende BSo p) @080
2) ERNH0H agg\o“aé B0 BRIFS Sosge q) HTgrdo
3) cﬁ@o%oessfo Dy, 33(‘.3 Qendes® Sowoo B8 r) erSvEEo
4) 850800 o) Dendenr @80 wdly $owBo s) %
A) 1-p,2-q,3-1,4-5s B) 1-5,2-1,3-q,4-p
C) 1-s52-1,3-p4-q D) 1-r,2-5,3-p,4-q

In A ABC shown, D is some interior point, and X, y, z, w are the measures of angles
in degrees. Solve x in terms of y, z, w.

$e08® F208 Do D 058 A ABC & a8 0888000, X, v, z, W oo e
Qenadew (&@e:ess). ONT® X LV Y, Z, W o8 Somodo

A) w-y-z
B) w-2y-2z
C) 180-w-y-z

D) 2w-y-z

loo



27.

28.

29.

In the adjoining figure AB is tangent to the circle with centre 'O' point D is interior
to the circle and BD intersects the circle at 'C'. If BC=CD =3, OD =2 and AB =6,

then the radius of the circle is

O Boore Ko QT8 A B ADS @tﬁﬁsp AB- D 9038 & w08 8oty BD o
0% T QHE2y € 3G poddyod. BC =CD =3, OD = 2 5dci» AB =6 @S Qg

wgﬁ%go. A s

15 k B
A) 3+ /3 B) ; 3
O 26 D) 22

Assertion (A) : If tan 6 + cot 0 = 2 then the value of {40229 + cot'g = 2
1 . P
Reason (R) : Ifx+ T 2 then x T 2 for any positiv integer values of 'n'.

A) Ais correct, R is correct explanation of A

B) A s correct, R is not correct explantaion of A

C) AisTrue, Ris False

D) A and R are False

(B80S (A) @ tan O+ cot 0 =2 w8 tan?g + cot?®@'g = 2

1 1
8o (R) @ x+ o= 2 ewond X" tow = 2 (n ¥ o) FEFTOE Hended)
A) AREo, Reoodd AH 36308 se8es0.

B) Adg0, Reds A S0Ghs sedeo 5o

C) ARZpo, Redgso

D) A, Re» Sotr ed8o

Statement (A) : The median of a data consisting of odd number of observa-
tions is 30. If two observations 9, 36 are removed from data,
then the median of new data is 30.

Statement (B) :  The area of Isosceles triangle when base is 8 cm and its pe-
rimeter 18 cm is 12 sq cm.

A) Both A, B are correct B) A s correct, B is wrong

C) Ais wrong B is correct D) Both A, B are false

Io



30.

31.

32.

33.

(PRES0 (A) D B Sogy & Ko a8 Szrodo TrdHe @) igdo 30. & Tode
$008 9, 36 93 Bodh TrHed SeoRode 2536652%0 30 9508,

B5E80 (B) 1 4 8 R0.80. HexFed 18 0.8, e el Slnbrso (Bgbe
dego 12 . 0.8

A) A, Ben Bosir d&50 B) Ad&50, B eddso

C) Aedgo, Bidgo D) A, Beo Bo&r &0

The height of a solid cylinder exceeds its radius by 7 cm. If the lateral surface area

of solid is 616 cm? Then what is the volume of solid (in cm?)

a8 HoToses 6{;0“30 D& T 8}53'°§°§<5°go o8 7 20.5. QEN, é:@%“ao 88 Jareso

616 20.502% ©ond T 5850 (055 0. 8. o)

A) 1078 B) 2156 C) 15092 D) 5030

In the given figure a circle is inscribed in a square and the square is circumscribed

to antother circle. If the diagonal of square is 7./ cm, then find the difference

between areas of region A and B (in square cm)

2.8 SBTR0 8 HoFHBo HO oS HBo BOA ob. & BHBS Bo PEY 7./2 @on®
A, B o 55 5o dos? (A, Ben (@rod ST%eD)

1
A) Sg

A
; %w
B) 4§ A
5
© 73 K%
A

1
D) 91

In A ABC, ZA =90°, AD L BC,BD =3 cm, DC=12cm then AD = ...............
AABC &*2£A =90°, AD 1L BC, BD =3 20.8., DC = 12 20.8. ®wonsd AD = ...............
A) 36 B) 9 O 6 D) /6

In a clock the length of minute hand is 14 cm, then the area of region covered in 10
min by the minute hand is

2.8 KESPBoE® 14 0.8, FPEDH Ko vare ey 10 Aires® DBBD (@Pod Beego
Qo8 ?

49 49 98
A) F7 B) -7 C) 33n D) 57



34.

35.

36.

From a well shuffled pack of cards a card is drawn
m = Probability of getting a diamond card

m+n

n = Probability of getting black ace card. Then =

m-n

e BensHndd o8 :ﬁwé&e ééégzéao& oﬁ:‘ocﬁaz‘%éom a8 ?@263 &S Hoeasst

m = 833 8 ok 528 wdly Sogriys

n= 85 58 I I wdly Sogrdd wond mrno_
c e m-n
11 15
A) ry B) IE)
15 12
C) 'TE D) EEl

In a survey the observations are5, 7, 0, 4, 10,11, 2, 0, 6
m = Mean of above observations
n = Mode of above observations then m" =

&8 $To Hodomroeen 5, 7, 0, 4, 10, 11, 2, 0, 6

=2

=3 Bodode wosldgo,

n =3 H0deode ergdo eanae m” =

>

) 0 B) 1 C) 75 D) 7

AB+BC _AC
PQ+QR PR

Statement (S)) : A ABC ~ A POR then

Statement (S,) : Angle in a semicircle is Right angle

A) Both statements are True B) S, is False, S, is True
C) S, is False, S, is False D) S,is True, S, is False
AB+BC _AC

@S0 (S,) : AABC ~ APQR e» oo PQO+OR PR

©HE50 (S,) - @é?ﬁ@éoéﬁ@ g%s0 wowtleo
A) P ToH (BT Teen HE50 B) S, ed&0o, S, d&0
O S @69550, S, @69550 D) S, éeégo, S, @69550



37. The angles of elvation of the top of the tower from two points at a distance of 4 m

38.

39.

40.

and 9 m are in a straight line with the tower are complementary. Then height of
the tower is

€586 %08 4 &, 9 &, oSt o) 8ot DorPHorod LI P B 5089095
&35 Eeren Frien wand 06 I8

A) 8 B) 12 C) 6 D) 10
In the adjoining figure AC = 6 cm, AB =5 cm and £ZA = 30°. then area of AABC is

(in square cm)

% 08° AC=6cm, AB=>5cm 5805 A =30° wons AABC Saeego (. 0.80¢)

A) 75 B) 85 o B
S
Q) 65 D) 55 4
tan 36° A 6 cm v
. an _
Assertion (A) : ol 2
Reason (R) =1 If o+ B =180°

A) Ais correct and R is correct explanation of A
B) A is correct but R is not correct explanation
C) Both A, R are false

D) A is false and R is correct

o tan 36°
(©8eS (A) : vyl 2
528690 (R) =1 eowd o+ B = 180°

A) Aéééo, Réééo oHEr A 6&3&306}63)26&&

B) AR50, R{&s0 =9 AL 6&3&%05@0 o)

C) A, Ren SothH edaygen

D) A edgo, Rdg0

If p(E) = 0.00275 then p(Eg) =

p(E) = 0.00275 9o p(E) =

A) 0.00275 B) 0.00915 C) 0.99725 D) 0.98725



PHYSICS

41. Assertion (A) : Insummer people normally prefer wear cotton clothes.
Reason (R) :  Cotton Prevents evaporation
A) Both A and R correct and R is the correct explanation for A
B) Both A and R correct but R is not correct explanation for A
C) Both A and R False
D) A is correct but R is not correct
5D (A) D Jprdesore (Hesen domeseeod® el &odoen BOID.
sedese (R) S =1t w%ﬁée@o 365&)@0&).
A) A 50605 R Bodkr 8859, =0 R el A 8535 9580w
B) A £8c5» R Bodr 83859, =0 «I0 A 8§85 958k =2
C) A SBosw R Bokr BRI =059
D) A 3838, RRI858 oo
42. Mathch the following

Group - A Group - B
1. Melting point p) 373k
2. Boiling point q 0k
3. Absolute zero temperature r) 298 k
4. Room temperature s) 273k
% - 2 % - B
1. @Sﬁ)e;%éé;éo p) 373k
2. RPESITHo qQ 0k
3. HEHEIG LIS o r) 298k
4. 160 &S s) 273k
A) 1-s52-q,3-1,4-p B) 1-p,2-s5,3-q,4-r
C) 1-s52-p,3-q,4-r D) 1-p,2-5,3-1,4-q
43. Which of the following substance has more degree of reluctance to change their
temperature.
Name of the object Specific heat in cal/g-°C
P 0.031
Q 0.50
R 0.95
S 0.115




8od et SPNS0 SrGeds A8 wowyd Ko So@go 260 ?

Swo B 28Pgo cal/g-°C
P 0.031
Q 0.50
R 0.95
S 0.115
A) P B) Q O R D) S

44. Which are of the following statements is /are incorrect.
A) Specific heat of water is 0.5 cal/g-°C
B) 1cal/ g-°C =4.186 x10°]J/kg -k
C) Latent heat of vaporization of water is 840 cal/ grm
D) AandC
Bod BSSTes® KBEE 08 JB/HD ?
A) 8 Gw) 8PLo 0.5 cal/g-°C
B) 1cal/ g-°C =4.186 x10°]J/kg -k
Q) & aws) RIS %o 840 cal/ grm

D) A 8w C
45. Refractive index depends on ......................
A) nature of the meterial B) wave length of light
C) frequency D) Aand B
S85S theedo (8od B STEHEHE0D.
A) o“awg eeredo B) ééoﬁ@?rgo
C) g0 D) A &oboi» B

46. Which of the following statements is not true.
A) Light travels with speed of 3 x 10* m/sec
B) Refractive index represents in which medium light travels faster or slower
C) The refractive index kerosine is less than refractive index of water

D) The velocity of lightis more in rarer medium than the velocity of lightin denser

medium.



47.

48.

49.

80b PSSTres® D& Qo =8
A) $ridos® 50 o 3 x 107 & /D

B) (8455 rheato @kt a8 airsEos® 508 Qod $&me S Ikydre (HAEKeE”
BeHBob.

C) 88%S 8¢5 rheto A& HBesto Sol 8.
D) 08 Jfo Jopd Krssos® v 8Y cirsgos® g

Match the following for convex lens (in air)

object distance Nature and position of image
X) U= A) Real, inverted, equal
Y) u=2f B) Real, inverted, highly diminished

C) Real, erected, equal
D) Virtual, inverted, equal
B0gRsed 8880 $020H00) (Eod TP a:8DBN0E. (PO &oDX)

X) u= A) TPEIR[8, Sodothen, DIPSTIE
Y) u=2f B) T30, odothen, Trer VO

C) TIH5R88, Dertd, HmKSTo5E6
D) g, So80then, PO
A) X-A,Y-D B) X-B Y-C C) X-B Y-A D) X-D,Y-A
Statement (P) :  Lightof shorter wavelength is scatter more than light of larger
wavelentgth
Statement (Q) : Red light scattering is more than that of violet.
A) Pis true, Qis false B) Qis true, P is false
C) Both P and Q are true D) Both P and Q are false

(2RE30 (P) D BEpN SBoNgY 50 o 5P08 QNS SVNGY o e sod Bo&
QBT HEFHes0 BoLEIOR.

(%830 (Q) D QB Boid o8 SsTrBorh To8E0E VB HEZE0 BOLDEOE.
A) P 350, Q edg50 B) Qd&0, P eoddgso

C) P Sodci» Q Sogen D) P &508c» Q evd@sgen

Ratio of speed of light in vacuum and speed of light in any medium is ..................
A) Absolute refractive index B) Relative refractive index

C) Dispersion of light D) Scattering of light.



50.

51.

52.

53.

54.

55.

Sri508® 5208 S8 Kb o“awgoess 508 S8 Ko QYA e 0L
A) 585 SEgssidesso B) Joy S@esstheto
C) o8 JgHe D) =008 5855

Which of the following has higher speed of light through it relatively with other
three.

A) Air B) Rock salt C) Ruby D) Diamond

Bod °0S° BAS® i LortoE FRForT VL o8I0 EDAGOR.

A) ™d® B) obrg C) &ed D) Sleo

Muscular diaphragm in our eye is called ..................

A) Cone B) Rod Q) Iris D) Pupil

EoBEE) BorbINE ETTPEED covvvreennnn QO

A) Zod B) &oween C) 8% D) 8oard

When an objectis placed at distance of 25 cm from our eye, eye has minimum focal
length is ...................

&8 50590 o ool 25 20..0 &rdos® eodS éoé%ciwé& ééOKOq mééoééo ......
A) 22.7 cm B) 227 cm C) 25cm D) 2.5cm

Doctor advised 4D lens then the focal length is ...................

C§°§5 4D Beodo P S0l rATREgosto

A) 25cm B) 4cm C) 25cm D) 0.4 cm

A prism with angle A = 60° produces an angle of minimum deviation of 60°. Then
the refractive index of the material of the prism is ....................

a8 Beggo @nE) Smo A = 60° 58 8D Do 60° wans Hy¥o @By HBSS
1oeeso

A) 3 B) 3 O 2 D) 2
The point of maximum distance at which the eye lens can form an image on retina

is known as ................

A) optical center B) far point

C) near point D) focus

D KBR trdo HPFY) HothheH o Ko SHHed SrEd Sod swdo 3dTR
(©8Domo DBEKOE T oo, 0T

A) ESoo B) #68 &8 Hothsd

C) B &8 Doty D) &8



56.

57.

58.

59.

60.

1 1 1.

—=———1is know as

f v u

A) Fermat's formula B) Lens makers formula

C) Lens formula D) Huygun's formula

2l o,

f v u

A) oS ardyer B) % $05r0 PBY®

C) Bes ardyer D) 6] ardyer

Find the resultant resistance between A and B of the following diagram

808 He08® A H8cin Beo vty $08 550

4 Q 2Q
MWV VWV
A— — B
VW VW
4 Q 2Q
A) 1Q B) 3Q C 4Q D) 6 Q
On which of the given resistance does not depend :
A) Length of conductor B) Area of cross - section
C) Temperature D) Density
D&E%G0 (Bod TS® BID erdHE.
A) T8 8D B) Sogsis dege  C) s D) o

If the length of a conductor and its radius is increased twice, how will the resis-
tance change ?

A) Resistance will remain unchanged

B) Resistance increase twice

C) Resistance will become half

D) Resistance will increase 4 times

oS8 PEH B o8 wg@%go B&0%) B2d 8%%0

A) 8850 Srd B) d&8%So 2 Bey eHBod

Q) &80 B0 ©HBod D) 28550 mrenih Bey &0

A charged particle having charge q, moving with velocity v parallel to the mag-
netic field then it experiences a force of f is equal to
q @508 Ko v K08 &l wohmed FEoH JSEroBBore BHend) weRMS

5T oo f

A) 0 B) qvB C) q/vB D) qB/V2



61.

62.

63.

04.

65.

66.

67.

CHEMISTRY

Which of the following gives pink colour with phenolphthalein indicator?
808 Q" HTHOS SrDBE® 208 Borh mindd A& ?

A) HCOOH B) KOH

C) H,PO, D) HNO,

Blind persons use following indicator identify acid base.

A) Red litmus B) Phenotpthalein

C) Clove oil

©0530 Board 8ob IS & SrdE GHTTA0D ST O HHID.

A) D PR
C) odoro eI

Formula for sodium zincate ..................

FBESHo RBOBES @%fo&e? ..............
A) Na,ZnO, B) Na,ZnO,
Vinegarisa ......cccccceueuenene

A) Citricacid B) Lacticacid
DSKE OB0KE e
A) @0 B) erfseino

On careful heating of gypsum at 373 k it looses water molecules partically and

coverts into ........ccevveeeeeennen.

Q0% 373 k effiiEd IV wb argorr A wenhes &% ow

JreBoso0d.

1
A) CaSO,-HO

1
C) CaSO,;H,0

Range of visible spectra

A) Less than 400 nanometers

C) Between 400 - 700 nanometers
LSS 5208 TR

A) 400 oS &g 85 Lo

C) 400 Kol 700 o>s° Qoo Kogss®
Which is the correct in the following
808 UE° KBS DO?

A) 5p <6s <4f <5s

C) 5d<6p<7s<d4s

B) 25D
D) gSesdods

C) Na ZnO, D) NaZnO

C) Acetic acid D) Tartaric acid

C) R&BessHho D) ergroSesyo

B) Ca,SO,2H,0

D) CuSO,.5H,0

B) More than 700 nanometers
D) Between 700 - 1100 nanometers

B) 700 oS e By s

D) 700 $00& 1100 o>&° Qneag soess®

B) 5d <6p <7s<4s
D) 5d <6p <7s<8s

D) Methyle organe



69.

70.

71.

72.

................... number of electrons that can be accommedated in an orbital
a8 @6@&?5 S0 Godsne ﬁ&?@q @e@gé D0 cvvrenirreniins

A) 3 B) 1 C) 2 D) 4

Long form of periodic table proposed by .........cccccccununucee.

A) H.J.Mosley B) Henry C) Rutherford D) Bury
DG 8 SBTS HEESD LGB vovvvevraieiieiia

A) TERIFY B) Q) &rs53°8 D) ersb
Which of the following is not a chalcogen family?

Bod ° &S Brnowo B DB ?

A) S B) Po C) Te D) Sn
Match the following.

X) Most electro positive group a) Halogens
Y) Most electro negative group b) Alkali earth metals
c) Alkali metals

d) Chalcogens

X) @ég@é cﬁ:éé)cﬁaéwééééﬁe (oS

Y) @ég@é me@é)cﬁaéwéééé o (D

)

)

)

)

) a) SHSfasy
) b) &8s Fsen
)
)

) B

d) wés&&é)e»
A) X-¢,Y-d B) X-b,Y-a C) X-¢ Y-a D) X-a,Y-c
Electro negativity =

A) % (Ionization energy x Electron affinity)
B) % (Ionization energy + Electron affinity)
@) % (Ionization energy - Electron affinity)
D) i(lonization energy x Electron affinity)

19



73.

74.

75.

76.

77.

me@@éﬁa&@é&éé =

1

A) 5 (050088048 X 0TS 2PIE)
1

B 5 (00088088 + TS IB)
1

O 35 (908G - JoFS MPIB)

1
D) 7 (050088048 X 0TS 2PIE)

CH, - CH,OH % CH,CHO This reaction is called ......................
A) Combustion reaction B) Oxidation reaction
C) Addition reaction D) Substitution reaction

Alk

CH, - CHOH ——~—~—> CH,CHO & 55 ....ooovve...

KMnO,
A) 80885 B) edyssens C) Hosesudy
Which of the following is not magnesium ore ?
A) Magnesite B) Carnallite C) Magnetite
Bod °&° Bofgacho TeED A B ?
A) Seifpen  B) =d8eo Q) SoeefyEBem
.................. most low reactive element

éé}&aﬁ iﬁU"é’%@é K0 D07e0B0 v,

A) Ca B) Mg C) Fe
Ammonium cynate an heating is known as

A) Urea B) Glucose C) Uric acid
BTICDHO DIED BETY oo ©OLTED.

A) rdcie B) #rs’E C) chrdsespo
Name of the compound HCHO ........................

A) FEthanal B) Proponal C) Butanol
HCHO 633&%426 T8O eeveneenenennennenn

A) S B) @daeS Q) argord

D) @J@éo“oeaiﬁég

D) Hematite

D) 358¢S

D) Ag

D) Vinegar

D) 9556

D) Methanal

D) oS



78.

79.

80.

Which of the following is not fossil fuel ...................
A) Petrol B) Coke C) Coal D) Charcol

808 sAE° Bewes B0GK0 IO D& ?

A) S B) &6 C) &% D) 58&°
Match the following
Group - A Group - B
1) Diamond ( ) p) Melanoma
2) C, ( ) q) Molecular wires
3) Nanotubes ( ) r) Lubricants
4) Graphite ( ) s) Used in ornamens
220G,
Group-A Group - B
1) Sezo () p) Do&Hr
2) C, () q) ok
3) oS Segeen () 1) Bodden
4) (& ( ) S) egbesrente SRETD
A) 1-5,2-p,3-q,4-r B) 1-5,2-q,3-1r,4-p
¢ 1-p,2-r,3-q,4-s D) 1-p,2-s5,3-q,4-r

The IUPAC name of the following compound

CH,
|

CH,—C — CH=CH,
|

CH,
A) 2,2 dimethyl, Butane B) 3, 3 dimethyl, Butane
C) 2,2dimethyl, Butene D) 3, 3 dimethyl, Butene
E) 633&%%0 G@w¥), IUPAC %
A) 2, 2 3BS, agBS B) 3, 3 23S, aysS

C) 2, 2 3PS, augdS D) 3, 3 B3NS, angdS



BIOLOGY

81. Identify the end products of anaerobic respiration in yeast :
i) Lactic Acid ii) Ethanol iii) CO, iv) energy
éa@és 2BIH @D TRHBADNS® Bendtd wody SoTreRy ool
i) orfeespo i) adS iii) HSGEBE iv) 48
A) i, ii, iii B) iii, iv O iiv D) ii, iii, iv
82. Identify the wrong pair/s :
Group - A Group - B
1) regeneration - amoeba
2) budding - onion
3) fission - paramoecium
4) parthenogenesis - wasp
A) land?2 B) 2and3 C) 3and 4 D) 1and 4
ST 2BBHEAS A HBowod
Group - A Group - B
1 HIHEE - o
2) dysso - &9
3) 993 - PBRHo
4) ednd=ddo - Bobbs
A) 156cw 2 B) 20boi» 3 C) 3 odosw 4 D) 18 4

83. Statement : In Mohl's half leaf experiment, the leaf part set inside the bottle does not turn
into blue colour in lodine test.

Reason (1) : KOH present inside the bottle absorbs CO,

Reason (2) : KOH present inside the bottle absorbs starch in the leaf.

A) Reason 1right, Reason 2 wrong  B) Reason 1 wrong , Reason 2 right
C) Both areright
(@BSTZ0 1 Frd wBHE (BTt DS eHS08S eHgrifo oBrdS $658°
DOBorHS V8 Sr8eh.

8600 (1) : HIS Ko DeeencH ) Eg)E CO,L %’5%1@0&.

8600 (2) ¢ HISE Koo PeTNHTH PEB)E sB$0ud %Jo&o“awgozéa %’5%1@0&).
A) =80 1 JBFHI6, s°8wo 2 85y B) s8mo 1 &), 5280 2 SOGHIE
C) Bokr LB D) Sor 393

D) Both are wrong



84.

85.

86.

Cell cycle consists of 4 phases. They are shown as A, B, C and D in the diagram,
What are A, B, C and D phases ?

&y

A) A -Mphase, B-S phase, C-G, phase, D - G, phase

B) A-Mphase, B -G, phase, C-S phase, D - G, phase

C) A-Sphase, B-M phase, C- G, phase, D - G, phase

D) A-G, phase, B - G, phase, C-S phase, D - M phase

Beatd(BS050t0 4 HSden o). eE $He0508° A, B, Cobcsn D e TQoWERI0. A,
B, C 50800 D &80 D580 ?

A) A-M&3,B-58%,C-G, 88 D-G, 5%

B) A-M&%,B-G 6% C-585%,D-G, 8%

C) A-S8%,B-M&s,C-G, 6%, D-G, 8%

D) A-G, &%, B-G,5%,C-58% D-M&S

Statement 1 : Photosynthesis and respiration appear to be opposing reactions.
Statement 2 : But, both have very similar biochemical pathways.

A) 1True 2 False B) 1 False 2 True

C) Both are true D) Both are false

(5550 1: Edesesiy SoTBD SoBckn FXVEchen trierds :S?S@E:soé g EIBT.
(©5550 2 : 59, TolodS® &8 BEFS SSEICHS LoErTres Gotraw.

A) 1), 2 8 B) 1 85, 2 &)

C) Bor ald D) Sor 393

One among the following is NOT a biological principle to minimise the usage of
pesticides :

A) Crop rotation B) Sterility

C) Using natural predators of pests D) Using manures

Bb0Ese ToEseR) BAKrond SRoB0hE wIOOT BIE Jchired® BB :
A) Dot

B) Soggsisin

C) Brogo 8k JragfEsrokny GHdErNote

D) %o eEdo



87.

88.

89.

90.

1) Sympathetic nervous system stimulates salivation.

2) Sympathetic nervous system relaxes urinary bladder.

3) Parasympathetic nervous system decreases blood pressure.
4) Parasympathetic nervous system dilates pupil.

Identify the wrong statement(s) :

A) 3 B) 2 O 1,4 D) 1,3
1) $E0erd TERDE crono a8l (HER00.

2) RFged TERGDY Sr(@SohIn $EOKB.

3) RIS HETERGHY SEBETRY A0,

4) SIS HETERGDY CoBFHR BB,

2 AS® &) (HBBT HOoBd.

A) 3 B) 2 O 1,4 D) 1,3

Out of all the water on earth, only ............. % 1is fresh water.

Fr Q08 Ivgo ABS®, BHOO ..o, % LPBH o V.

A) 1.00-150 B) 1.50-2.00 C) 25-275 D) 3.00 - 3.50
Blood circulation system shown in the following figure is seen in :

A) Earthworm B) Snail

C) Fish D) Tortoise

83"253&635 rRals BE@hde 530 B 82508,

A) IS B) &8

Q) =% D) ooZen

Identity the TRUE statements regarding characters observed by G.J.Mendal in pea
plants.

1) Purple flower colour and round seed shape are dominant

2) Terminal flower position and yellow seed colour are recessive

3) Inflated pod shape and yellow pod colour are dominant

4) Wrinkled seed shape and white flower colour are recessive

G.J. oiS 5680003 Tl B ofEre $005odd (HHSTOS® JHEFS T
favlototnlotas

1) 88 deo PO Bord 0BG MOED VES 85eB0 WErEEOEE0

2) %sptﬁé oﬁ)@ﬁgéo LoBa%n DIH Borh DESWen ©oBTE oFeeo

3) LKoseeh @5eB0 HOAD DY SCNBOMD @S ©5R0

4) Swnfdentio QI S5P80 HOKD o) HRD S0t @oétgéé 50

A) 1,2 B) 2,3 O 3,4 D) 1,4



91.

92.

Name of the phylum / class Excretory system
Protozoa Simple diffusion
Annelida Nephridia
Reptiles, Aves, Mammals Kidneys

Identify the CORRECT statement :
i) There are no specific excretory organs in unicellular organisms.
ii) Nephridia are the excretory organs in earthworm.

iif) Kidneys are the excretory organs in snake and monkey.

A) Tand 2 only correct B) 1and 3 only correct
C) 2and 3 only correct D) All are correct
SESw [ B818 D/PE K55
8esbeba ETRE

©JBee Qsen

65&@)@%;3, Sgew, %&5@@ Sor(EoTeen

J&g (DIDTro HBoBod.

i) D8BeedHos® @gé@_):é Ddgseorren 85.
i) TSrEns® HEmen DSgsHcharen.

iii) aesw, 8888® Soe@omeen DPseorren.

A) 150805 2 Sr(@dH SOHID B) 150805 3 $r(@ah SOOI
C) 250805 3 (@D SOFHID D) &) S6GH
Statement (1) : Diencephalon and vagus nerve play an important role in

carrying hunger signal to the brain.
Statement (2) : The second brain is the seat of conscious thoughts and
decision-making
A) 1 True, 2 False B) 1 False, 2 True
C) 1and2True D) 1and 2 False
(58550 1: ws&ﬁﬁsgzﬁw 0B SNVTE w8 oSzred R BEIckues® Swgger(d
(©SE0 2 : Botdd estd BELHoEIS e&* S0 HOAD AZoTer BHE e 5T
A) 125y, 2 8 B) 1 &) Sobcin 2 2
C) 1 05 2 e D) 1 $00ckn 2 )



93. Contour strip cropping is a method of ................

A) Conservation of biodiversity B) Soil conservation

9.

95. Match the following :
Group - A Group - B
1. Human body with a tail () a) Convergentevolution
2. Analogous organs () b) Charles Lyell
3. Principles of Geology () o Atavism
4. Speciation () d) Macro evolution
Group - A Group - B
1. &% SORS Soedd $085w () a) 2dIB Hoerso
2. (Boirry edalharen () b) 538 oS
3. YD) & Bcired () 0 etrdeo
4. B0 BB ( ) d 6:;&) H0eTP00
A) b,ad,c B) a, b d C) ¢ bad D) ¢,a, b, d
96. Match the following
Group - A Group - B
1. Oesophagus () a) Hormone
2. Stomach () b) Chyme
3. Cholecystokinin () ¢ Jaw movement
4. 5% cranial nerve () d) Peristalsis
A) a, ¢ b d B) d,b,ac C) ¢ bad D) b,a, d, c

C) Food conservation

50088 o“aéé Hotro '(306650 88 i,

A) €530 Sobgen
C) &5 Sodges

D) Plant conservation
QedSm.

B) &8s Sodges

D) &8 Sodges

The ............... represnets the relationship that exists between the quantityu of liv-

ing matter at different trophic levels.

A) Pyramid of biomass
C) Pyramid of energy

QPK) RS 5;033@635, £ o“awg HOKreasine gy Ko $oRoFHN BendHd

A) E5E508 DEDE
C) 48 2BNE

B) Pyramid of numbers

D) Pyramid of consumers

B) ogrg 2HBE0E
D) 99&rHmethe 2EDE



97.

98.

2285583508

Group-A Group - B
1 essB8aeers () a) &S
2 a%;%oﬁaaﬁw ( ) b B>
3. BO™YBIS () o) 538 8598
4. 5% Baroed () d) HOTORR
A) a, ¢ b d B) d,b,ac C) ¢ bad D) b,a,d, c
Plant Hormone It's action in plants
Auxins Cell elongation; shoot and root differentiation
Cytokinins Opening of stomata; delays aging in leaves
Gibberellins Elongation of stem; break down the seed dormancy
Abscisic Acid Closing of stomata, seed domancy, promote aging in leaves

Statement 1 : Seed dormancy is effected by Gibberellins and Abscisic Acid
Statement 2 : Abscisic Acid saves plant from water loss.

Statement 3 : Auxins cause early aging in plants.

Identify FALSE statement :

A) 1 B) 2 O 3 D) 1and 3
SBHo ?’.:‘58&'326: KD o WL,

o8)Sen Beso DBDGL; SP0K0, S8 JBES0.

2658285 ew HEBolgren BEHE K, edos SAeYe wogo oo
BenBORY seofo PEDrhes; DES KafdY EonowDd.

H1E esho H@bogren S, DES ars; S SRS

©5550 11 BBy 0K ed PRSP HES $oarHhP HerdEo Bsno.
(©B580 2 : 1T FnEes® VB KK JTB0LHD.

@D5E50 3 1 e8P &aé&oé‘g 25@3?25@)@% S°BE0501 0.

Q) D5E50%0 HGoHod.

A) 1 B) 2 C 3 D) 1&8c» 3
Arrange the following events of blood clotting in an order they happen :

1) Blood cells entangles in the fibrin fibres and form the clot

2) Platelets release thrombokinase

3) Fibrin fibres are attached to the edge of the wound and pull them together.

4) Thrombokinase acts on pro-thrombin convert it into thrombin.
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88 08885055 Bobd (Bob Hognetden ol adivd Edoos® od.
1D 288 SodhHes® S8 DENE $5oBskn DE)S0b.
2) B8 Podfen [ErodfEIE% HseTIow.

3) S Boden Fe ) BETED wothed @R $o8'Doito Hoi T woidben
alaftels S ptlalplehol

4) @od’BIE, @iFrodSR $80d AR (oI Skt
A) 1,3, 2 4 B) 2,4, 1,3
C) 4,2 31 D) 2,1, 4,3

99. Arrange the stages of urine formation in order :
1) Tubular secretion 2) Glomerular filtration
3) Formation of hypertonic urine ~ 4) Tubular reabsorption

o@D Ko S0 S [Bos® eidiod

1) S ([PHOSw 2) iﬁzﬁameéaﬁw

3) ©8ES o SrBo ABYELO 4) ééwé&é DB hes0
A) 2,4,3,1 B) 3,1,2 4

Q) 1,342 D) 2,4,1,3

100. Statement: Marasmus is a problem seen in children.
Reason (1) : Defficiency of vitamins in food causes marasmus
Reason (2) : Caused due to defficiency of both proteins and calories
A) 1-Right, 2 - Wrong B) 1-Wrong, 2 - Right
C) Both are Right D) Both are Wrong
(L5001 HTYD DY Doos® E1BoH 308,
80 (1) @ @5B8os ey FHo S 536"6&5 S5y
ze8es0 (2) : @‘Sé%ﬁe;a, Boben Bolod® 50 Sod Benithdod.
A) 1 -5, 2 - 8 B) 1 -85, 2 - a5
C) Boir ald D) Sor 393
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